Solve the differential equation y” — 3y’ +2y =sin(e™). [94 LR} KB EHE 2]

(RS EHERN -3 +2=0=>A1=1,2=>y, =C,e* +C,e*

Ly, =ue"+ue” =y, =(ue* +uie™) +(ue* +2u,e™)

Zule* +ue™ =0
yr = (ue* +2use™) + (ue* +4u,e’)

{JC/\J:‘?'—\_U?

ule* +2ule* =sin(e™)
ex e2x 0 eZX : X .

A= gy e3x’ A= . x| T -6 Sln(e_x)a Az = . =e Sll’l(e_x)
e* 2e” sin(e™) 2e** e* sin(e™)

’ Al X - —X —X —X —X

u/ :X:—e sine™) = u, :I—e sin(e”)dx =—cos(e™)

uj = % =e Msin(e™*)=>u, = J'e‘“ sin(e )dx = J'e‘X -e ¥ sin(e )dx = Ie‘xd cos(e™)

=e " cos(e™*)— I cos(e™*)de™ =e* cos(e™) —sin(e™")
y=Y,+Y,=Ce*+C,e* —e*cos(e™)+e”[e™ cos(e™) —sin(e™)]

=C,e* +C,e* —e™sin(e™)



